


Intermediate Macro Theory Review

Intermediate Macroeconomics Review

Sample Problem Set with Solutions
1.  i)  Illustrate and explain how a decrease in the expected price levels shifts aggregate supply to the right.

ii)  . In an article entitled "Strong Chairmen Weaken the Fed" in the

Wall Street Journal (week of April 22, 1991), Jerry Jordan states:

"The secrecy about what actually goes on in an Open Market Committee meeting is self-imposed. And the Fed

watcher industry thrives on secrecy. Other central banks, such as the German Bundesbank, hold a press

conference and announce their policy decisions at the end of their meetings, leaving no room for doubt or

speculation about their actions. The Fed contributes to short-term volatility in markets by making the rest of

us guess at what they are really up to."

What model of the macroeconomy do you think the author is using?  Show and explain why secrecy regarding policy actions leads to output instability.

2)  i)  New Classical macroeconomists argue that an announced, credible policy of expanding the money supply could decrease aggregate output rather than increase it.  Using the New Classical model, use the labor market and AS\AD (Ys\Yd) to illustrate and explain the reasoning behind this argument.

ii)  Would (a) a Keynesian economist, and (b) a monetarist economist agree with the assumptions and conclusions 

in (i)?  In each case, use the labor market and AS\AD (Ys\Yd) to thoroughly explain the differences.

3)  i) Show and explain how "labor fooling" in the labor market can lead to variations in the slope of the aggregate supply curve under (a) new classical, (b) keynesian and (c) monetarist assumptions.

ii)  Use the Phillips Curve analysis to illustrate and explain how "labor fooling" can lead to variations in output and inflation under (a) new classical, (b) keynesian and (c) monetarist assumptions.

4)  Assume the following information: C = 300 + .8Ydis;  I = 200;  G = 300; T = 50; EX = 100; IM = 20+0.1Ydis. 

i)  What are the equilibrium values of GDP and savings?

ii)  Graph the Keynesian Cross.  Label it with YE and the current value of autonomous expenditures.

5)  Show how an increase in the money supply affects aggregate demand via IS/LM when:

i)  investment demand is interest inelastic. 

ii)  investment demand is interest elastic.

6)  Show how an increase in government spending affects the aggregate demand

curve:

i. when you have a steep LM curve

ii. when you have a flat LM curve.

iii. Which school of thought would you attribute to (i)?  To (ii)?  Explain.

7)  Assume the country currently faces a Balance of Payments (external) surplus, with an internal balance, fixed exchange rates, and a high degree of international capital mobility.

i.  Of the two, do you recommend fiscal or monetary policy to achieve a simultaneous internal and external balance?  Illustrate, and explain the net benefits of each policy.  

ii.  Now assume we are under floating exchange rate system.  Illustrate and explain how else a simultaneous internal and external balance might be achieved. 

Solutions to Sample Problem Set
1.  i)  Illustrate and explain how a decrease in the expected price levels shifts aggregate supply to the right.
ii)  . In an article entitled "Strong Chairmen Weaken the Fed" in the

Wall Street Journal (week of April 22, 1991), Jerry Jordan states:

                    "The secrecy about what actually goes on in an Open

                    Market Committee meeting is self-imposed. And the Fed

                    watcher industry thrives on secrecy. Other central

                    banks, such as the German Bundesbank, hold a press

                    conference and announce their policy decisions at the

                    end of their meetings, leaving no room for doubt or

                    speculation about their actions. The Fed contributes to

                    short-term volatility in markets by making the rest of

                    us guess at what they are really up to."

What model of the macroeconomy do you think the author is using?  Show and explain why secrecy regarding policy actions leads to output instability.
1.  i)  At given current prices, Ns shifts right, wages fall, output rises (via production function) at current prices, 

so Ys increases- shifts right. 
ii)   He is referring to the fact that people are rational.  That is, they will take information into account and react immediately.  This is new classical thought.  Secrecy will lead to instability.  That is, in the short run, an increase in the money supply will increase AD and y.  In the long run, labor supply shifts left, causing the short run AS to shift left.  In the end, output is back to the original level, but prices are higher.  With an announced policy, it is argued that these shifts will occur simultaneously.  
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2)  i)  New Classical macroeconomists argue that an announced, credible policy of expanding the money supply could decrease aggregate output rather than increase it.  Using the New Classical model, use the labor market and AS\AD (Ys\Yd) to illustrate and explain the reasoning behind this argument.

ii)  Would (a) a Keynesian economist, and (b) a monetarist economist agree with the assumptions and conclusions 

in (i)?  In each case, use the labor market and AS\AD (Ys\Yd) to thoroughly explain the differences.
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Keynesianism does not assume any adjustment to expectations.  Monetarism assumes at most partial adjustment in short run because of adaptive expectations.  Rational expectations imply that if a policy is systematically carried out, people will adjust expectations concerning the impact on prices immediately and perfectly.

3)  i) Show and explain how "labor fooling" in the labor market can lead to variations in the slope of the aggregate supply curve under (a) new classical, (b) keynesian and (c) monetarist assumptions.

ii)  Use the Phillips Curve analysis to illustrate and explain how "labor fooling" can lead to variations in output and inflation under (a) new classical, (b) keynesian and (c) monetarist assumptions.

3.i.
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ii. Monetarists believe that changes in income are due primarily to changes in the money supply.  Thus, if a money supply growth rule is implemented, the short run Phillips curve will be relatively stable.  Thus, U and inflation will be somewhat stable.  Thus, the monetarists believe in the vertical LRPC, assuming that there is a monetary growth rule.  Otherwise, the keynesian interpretation holds.  That is, any fiscal or unexpected monetary policy action will result in a short run change in output, followed by a slow long run adjustment back to the original unemployment (output) level, but at higher prices.


Finally, although the monetarists did not necessarily dispute the keynesian interpretation of adaptive expectations, it is evident that they believed that wages were a bit less sticky than the Keynesians did.  Thus, one can assume that w.r.t. monetarist thought, any adjustment would be faster, thus lending more credence to a vertical  LRPC.
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4)  Assume the following information: C = 300 + .8Ydis;  I = 200;  G = 300; T = 50; EX = 100; IM = 20+0.1Ydis. 

i)  What are the equilibrium values of GDP and savings?

ii)  Graph the Keynesian Cross.  Label it with YE and the current value of autonomous expenditures.

4)  Assume the following information: C = 300 + .8Ydis;  I = 200;  G = 300; T = 50; 

EX = 100; IM = 20+0.1Ydis. 

 i.

 


ii)  Draw Keynesian Cross noting that autonomous expenditures = 845

[image: image1.emf] 

a+I+G +EX - 0.7 T   

autonomous   

expenditures  

= 845  

AE  

C+I+G +NX  

Y  

45  

o  

2816.67  


5)  Show how an increase in the money supply affects aggregate demand via IS/LM when:

i)  investment demand is interest inelastic. 

ii)  investment demand is interest elastic.

5)  (i)  IS is steep when investment demand is interest inelastic.  By increasing the money supply, LM shifts right.  If investment is not as sensitive to changes in r, changes in Ms that shift LM will have a relatively smaller impact on Y.
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(ii)  IS is flat when investment demand is interest elastic.  By increasing the money supply, LM shifts right.  If investment is not as sensitive to changes in r, changes in Ms that shift LM will have a relatively smaller impact on Y.
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6)  Show how an increase in government spending affects the aggregate demand

curve:

i. when you have a steep LM curve

ii. when you have a flat LM curve.

iii. Which school of thought would you attribute to (i)?  To (ii)?  Explain.

6.  When LM' is flatter, an increase in government spending will have a greater impact on Y.
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Yo' and Yo" represent the change in output at the current price level.  This defines the magnitude (amount) of the shift.  The shift in AD leads to new equilibrium levels of Y1 & P1 or Y2& P2, depending upon whether LM is steep or flat.

(iii)
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7)  Assume the country currently faces a Balance of Payments (external) surplus, with an internal balance, fixed exchange rates, and a high degree of international capital mobility.

i.  Of the two, do you recommend fiscal or monetary policy to achieve a simultaneous internal and external balance?  Illustrate, and explain the net benefits of each policy.  

ii.  Now assume we are under floating exchange rate system.  Illustrate and explain how else a simultaneous internal and external balance might be achieved.
7.  i.  There is an internal balance and external surplus at A.  If the Fed increases the money supply sufficiently, LM shifts right (to B) to achieve simultaneous balances.  This lowers interest rates, reducing capital inflows, and increases the price level (why?).  However, GDP rises.

If Congress increases taxes or lowers government spending, IS shifts left (to C) to achieve simultaneous balances.  At C, GDP is lower and the budget deficit is higher (why?).  Of the two policies, the first appears to have a higher net benefit, since the only downside is a rise in prices.
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ii.  Assume the economy has an internal balance at A.  As one moves towards a BP surplus (BP>0), more foreigners are buying a combination of more US assets and US goods.  This increases demand for the $, raising the exchange rate (say, er=Euro/$).  This lowers the price of imports and raises the price of exports.  This "self-governing" mechanism pressures the BP to fall back to zero while the domestic economy remains at A.
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Credibility important so that AS will shift right as AD shifts left to avoid the recession that takes place if AS doesn't adjust (because price expectations don't adjust), or even worse, if price expectations continue to rise even when Fed is decreasing the money supply.














- Credible policy announcements allow simultaneous adjustment, 1 to 3.  No change in output.





- "Shady" announcements create uncertainty, forcing steps 1 to 2 to 3.  Output is unstable. 
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� Recall that every point on the LM curve represents equilibrium in the money market, and every point on the IS curve represents equilibrium in the goods market.  Therefore, their intersection represents simultaneous equilibrium in both markets.
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